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NON CALCULATOR 

 
Simplify the following 
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Simplify the following 
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Simplify the following 
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Simplify the following (extension)  
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Find the area and perimeter of the rectangle (extension)  
 
                                          (5 2) cm                       Area = 
                                                                                 Perimeter = 
(2 3) cm  
 
 

 
Evaluate the following 

32 2  
 
 

3 43 3   2 5a a b  12 0 0.53 3 9   

 
Evaluate the following 
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Evaluate the following 
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Evaluate the following 
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Evaluate the following 
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Evaluate the following (extension) 
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